(3idc) WM&

H

p=(10)

FE PBEHHEMBHRS

HETMHASH2THELSHL &
A
=k R OB B 5

D LW THEEEAT O EATRHI AR 5 By 5 3 2 BE U A7 BE AT 2B AT Bh 4
e MERZ T OO THBETERTETR MBS ENE L KOM
BRI VEREREZRATHFBEVTEZLET,

1 WBhERILETIRE
26, 964 [

2 WEhERTHE
21, 571H

3 BREN BMAED & B Y



MELE 2 SR (5 6 &BR)

HEO BRI EEERNRE
BITE B & 0HE AR
1 HEHRER
X% WOk B 5 B
3 A4 4, 368 [ 4,368 M
4 B 5y 4,368 /9 | 4,368 [
5 A4y 4,480 [ 4,480 [
6 A4 4,536 [ 4,536 @
7 B4 4,592 M 4,592 M
8 B4y 4,620 @ 4,620 [
& g 26, 964 [ 26, 964 [

2 HBIEZfTHE

26,964 F4 X 0. 8 =_ 21,571 M
( HBhxl 288 X OBy E = WEh&mE )
(P RmE 0 #&T)




afm &3 Aglbop

=
S

(5adE) BBETHE

53

HIEHEEIT 2 TH 1 8 &1 &
BHEMEME S .
2R R oA 0

SRR

ZDZ LW TH AT O BT 6 S MBI E 3 B U R AT AT R
By & D 224 & Z v 720 O O R BE T BR AT B AT R Bh & ST E AN 5 DM
R VBREHEEBRATHEVWELET,

1 BT EICET SRRE

28,476 [

2 B & T G
22, 78049

3 BAFREE BAED L F Y



BFEHE 2 BEREC (58 b MFR)

T BT EFEENRE
BITEE &S OBERR
1 B eRE
X % | #® sk 4 W oBh o &
Pl
9)%5;?' 4,648 [ 4,648 M
/
10 H% 4,676 [ 4,676 [
1184 4,732 4,732
/
12H% 4,760 M 4, 760 [
1 A4 4,788 [ 4,788 [
2 R4 4,872 [ 4,872 1
& &t 28, 476 28, 476
2 WHBhEAR{rHE
28,476 4 X 0. 8 = 22780 H
( HiBhx 5457 X By & = eI )

(PR B0 Y $5C)



